RC

np

8.4

n*p = 7.14*0.0125 = 0.0893
Ig = Ic = 5.40*105cm?
RC Icr = 2.46*105 cm2
lcr / 1g = 2.46*105cm?2/5.40*105cm2 = 0.46 <1

8-7
8.3 20 N/
8.3
10 N/ oe 955N/ 2
20 N/ oe 955N/ 2 191N/ 2

Wer = 4*42+0.7*24  191/200*103+150*10-6 184.8* 955+150 *10€¢ 0.204mm

10
10

fora = 190%(10° / N&(1 0 sp/fud)

10 10
(109 /(5*%10 )012)/(10° /(2*10 )°12) = 5.703 / 6.366 = 0.90

N/ 2

fra= ki*fa(1 0 p/fa) (1 logN/K)




fra= ki*fa(1 0 p/fd) (1 logN/K) = 0.85*35(1 0)(1 log3 10 /10)=29.75(1 0.6477)= 10.5 N/

2

etc.

etc.

11 11 2

0.5

nv |/

ki=3EI/L3 k>=3EI/(2L)3= ki/8




1Y i/ 1=0.5
Yy o = mVv05 i J8=( mV i )(V05*8)=2 ; 1
o
x o
o
o
o
o




